
UK Double Parking Household Carport - BOM List-HD-01-3X6
No. Descriptions Specification Material Qty Unit Length

（mm）
Remarks

1 Front column 口150x150x2.5 Q355B 1 PC 2676.5 Welding part，Shot blasting rust removal spraying

2 Front column 口150x150x2.5 Q355B 1 PC 2676.5 Welding part，Shot blasting rust removal spraying

3 Back column 口150x150x2.5 Q355B 1 PC 2315 Welding part，Shot blasting rust removal spraying

4 Back column 口150x150x2.5 Q355B 1 PC 2315 Welding part，Shot blasting rust removal spraying

5 Back column decoration-L welding 150x413x2316 Q235B 1 PC 0 Welding part，Shot blasting rust removal spraying

6 Back column decoration-R welding 150x413x2316 Q235B 1 PC 0 Welding part，Shot blasting rust removal spraying

7 Arc corner edging welding 73.5x245x245 Q235B 4 PC 0 Welding part，Shot blasting rust removal spraying

8 Front decoration board welding 73.5x98x2485 Q235B 4 PC 0 Welding part，Shot blasting rust removal spraying

9 Front decoration board2 welding 91.6X122X2222 Q235B 6 PC 0 Welding part，Shot blasting rust removal spraying

10 Side decoration fixing board3 -1.0x50x146 Q235B 6 PC 0 Spray plastic powder

11 Front sealing board -1.0x772x5468 Q235B 1 PC 0 Spray plastic powder

12 Diagonal beams 口120x120x2.0 Q355B 2 PC 5798 Welding part，Shot blasting rust removal spraying

13 Purlin  C120x60x15x2.5 S350GD+ZM275g/m² 2 PC 5228

14 Purlin2  C120x60x15x2.5 S350GD+ZM275g/m² 4 PC 5228

15 Purlin plate welding / Q355B 12 PC 0 Welding part，Shot blasting rust removal spraying

17 Main sink connector  -1.5x186x180 S350GD+ZM275g/m² 8 PC 0

18 Mid main channel 1.4mm W shape bending parts S350GD+ZM275g/m² 4 PC 3452

19 Side main channel 1.4mmW shape bending parts S350GD+ZM275g/m² 4 PC 3330

20 Sub channel 1.0mmW shape bending parts S250GD+ZM275g/m² 15 PC 1672

21 Back column decoration frame lamp cover -4.0x829x868 Milky white acrylic 4.0 2 PC 0

22 clamp connnecting clip -3x162x30 6063-T6 48 PC 90

23 Slide nut H-LGLM-06 6063-T6 48 PC 20

24 30 edgy clamp H-30BYK-01 (T26) 6063-T6 24 PC 60

25 Mid clamp3 H-ZYK-03 (T30) 6063-T6 24 PC 60

26 Gutter ornament -3.0x806x291 Q235B 6 PC 0 Spray plastic powder

27 Gutter fastening hoop -3.0x80x398 Q235B 6 PC 0 Welding part，Shot blasting rust removal spraying

28 Gutter ornament -3.0x80x117 Q235B 6 PC 0 Spray plastic powder

Gutter 1.5mm aluminum 1 PC 3000 Spray plastic powder（dark coffe）

Gutter2 1.5mm aluminum 1 PC 2737 Spray plastic powder（dark coffe）

Gutter snap connector / aluminum 1 PC / Spray plastic powder（dark coffe）

Gutter sealing cover / aluminum 2 PC / Spray plastic powder（dark coffe）

holding bracket / aluminum 3 PC / Spray plastic powder（dark coffe）

Downspout Φ75x1 aluminum 1 PC 3000 Spray plastic powder（dark coffe）

Drain / aluminum 1 PC / Spray plastic powder（dark coffe）

65°bend 65° aluminum 2 PC / Spray plastic powder（dark coffe）

30 Neutral silicone structural adhesive / / 1 PC /

31 drawbar M12 Q235B 4 PC 1380 HDG avarage 65μm

32 sleeve tube φ33.5X2.0 Q235B 2 PC 1145 HDG avarage 65μm

33 sleeve tube2 φ33.5X2.0 Q235B 2 PC 1203 HDG avarage 65μm

34 Holding bracket self-tapping nails ST6.3x19 SUS410 3 set 0 with white pad

35 Gutter riveting parts 4x13Core pull rivets (coffee) aluminum 16 set 0 coffe color

36 Pipe climp screws M5X15 cross pan galvanize 3 set 0

37 Edgy clamp bolt M8x20Allen SUS304 24 set 0 with 1 spring pad

38 Mid clamp bolt M8x25Allen SUS304 24 set 0 with 1 spring pad

39 Bolt for side decoration frame and column M6x20Allen 8.8 class HDG 10 set 0 with 1 spring pad

40 Diagonal beams and purlin supporting boards bolt M12x150 Hexagons 8.8 class HDG 48 set 0 With 2 falt pads,1 spring pad,and 1nut

41 Diagonal beams and column supporting boards bolt M12x150 Hexagons 8.8 class HDG 8 set 0 With 2 falt pads,1 spring pad,and 1nut

42 Gutter ornament bolt M12x30 Hexagons 8.8 class HDG 36 set 0 With 2 falt pads,1 spring pad,and 1nut

43 Bolt for purlin and purlin supporting board M12x30 Hexagons 8.8 class HDG 48 set 0 With 2 falt pads,1 spring pad,and 1nut

44 Bolt for front facia and purlin M12x30 Hexagons 8.8 class HDG 12 set 0 With 2 falt pads,1 spring pad,and 1nut

45 Tie rod matching nut M12 8.8 class HDG 8 set 0 with 1 large flat pad and 1 spring pad

46 Lamp cover bolt M4x15 cross pan galvanize 8 set 0

47 Connecting self-taping screw for channel and purlin ST6.3x19 SUS410 48 set 0 with white pad

48 Connecting self-taping screw for channel and channel connector ST6.3x19 SUS410 48 set 0 with white pad

49 Self taping screw for clamp connecting climp ST6.3x19 SUS410 192 set 0 with white pad

50 Self-tapping screws for external blinding ST6.3x19 SUS410 56 set 0

51 Fron facia,gutter ornament self-tapping screw ST6.3x19 SUS410 40 set 0

第 1 页，共 1 页


